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= 1,370,269
J| 328,480
< 678,896
Al 5,501,883
ASIURHI 29 26,880 27,180 A 300
201 et 4,180 4,180 0
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N 350,523 322,884 27,639
= 177,687
< 51,851
Al 120,985
402 RI2tXt20l M 350,523 322,884 27,639
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909,000& «11&+1,000& 10,000
- 5,000
< 1,500
Al 3,500
02 3322l 2,854 8,916 N6,062
O33 4Ot I| ZHl ==2ltl
18,000& x11&+2,000& 200
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< 30
Al 70
O=JtRIIIHEE &EHl #2ldl
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< 75
Al 175
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Fl 95,000 *11&+9,000& 1,054
= 527
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< 165
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= 1,500
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Al 1,050
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< 450
Al 1,050
301 LEPEAZ 5,133 16,004 A 10,871
= 4,773
< 108
Al 252
09 HALAHIX RS 5,133 16,004 A 10,871
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= 20
= 6
Al 14
O=J)tRIIMEE S|
740,000& *4H +3,000& 2,963
= 2,963
O=)RIIMEE WFHHI 100,000& »4H 400
= 200
< 60
Al 140
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Al 135,606
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Al 120,204
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= 1,320
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& 1,200
Al 2,800
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S2HEsgdy B2 14,000 14,000 0
= 6,000
& 2,400
Al 5,600
402 SI2FXHE0| ™ 14,000 14,000 0
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o 2,400
Al 5,600
02 CIZEXIEAISE X (0| XM THL) 14,000 14,000 0
O SMUALYANA(FLE)
4,000, 000& *5CH *70% 14,000
= 6,000
= 2,400
Al 5,600
dEtA AAS THHE 22l 10,460 8,346 2,114
= 7,322
& 941
Al 2,197
402 SI2vXHE0| ™ 10,460 8,346 2,114
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= 7,320
=) 941
Al 2,197
02 U EALEZ(0IETHR) 10,460 8,346 2,114
oBMAMSE ELNWE N
1,122,000& *3hax100% 3,366
= 2,356
=) 303
Al 707
O RIIZHIEZXE 1,800&*3,8752+119,000& 7,094
= 4,966
< 638
Al 1,490
LS MMSHT R235 62,218 26,659 35,559
- 24,887
< 11,199
Al 26,132
402 RI2HXt20l ™ 62,218 26,659 35,559
= 24,887
< 11,199
Al 26,132
02 21t 2 AL EZ (OIS ) 62,218 26,659 35,559
OB ESMACTIZA (L)
13,826 ,000& *9IH A x50%+1,000& 62,218
= 24,887
< 11,199
Al 26,132
oE MADIEE X d 181,341 150,246 31,095
= 72,536
< 32,642
Al 76,163
402 QI2tXt=201 & 181,341 150,246 31,095
= 72,536
< 32,642
Al 76,163
02 21t 2 AL EZ(OI XM TH ) 181,341 160,246 31,095
COsYHEIMN 7Y 175,000, 000& = 19 *50% 87,500
= 35,000
< 15,750
Al 36,750
OHITHEHAIE 32,726,000%57H 2~ x50% 81,815
= 32,726
< 14,727
Al 34,362
OSZYHEIMEIAIE 18,051, 0003 = 1CH #50% 9,026
= 3,610
=) 1,625
Al 3,791
O2&AESF 2HO0IH 6,000,000 *1IH 2 *50% 3,000
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01 At 22l 1,000 900 100
OYLol BOIY BA BAHS FIE Y AR
500,000& *2H 1,000
301 LEHZ 1,280 1,280 0
09 HALAHIX A S 1,280 1,280 0
OYPQl BOtY A S EHI
8,000& 80 *23| 1,280
307 gl2tol & 4,000 4,000 0
04 DI2HHALALSE E X 4,000 4,000 0
OUIT=AHX FL3MY X
4,000,000& =13 4,000
s X A |4 28,900 34,000 25,100
< 7,225
Al 21,675
402 RI2HX20| ™ 28,900 34,000 25,100
< 7,225
Al 21,675
02 QI 2 A EZ(OI XM THE) 28,900 34,000 25,100
oggel sMedFY XA 28,900,000 » 14! 28,900
< 7,225
Al 21,675
M4XFE ZBH EY 22,000 19,700 2,300
201 24l 22,000 19,700 2,300
01 At 22l 22,000 19,700 2,300
O&XI+EE BEHl ¥ HAdsX2e
2,000,000& 1104 & 22,000
NAH LdHINHEE BE= 9,000 0 9,000
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S 1,350
Al 3,150
405 XHobF S HI 9,000 0 9,000
= 4,500
< 1,350
Al 3,150
01 AL EZFH S 9,000 0 9,000
OLHINAFHIOIAHE, =2]) 7
900,000& = 10CH 9,000
= 4,500
< 1,350
Al 3,150
SWHE SE S (XAH) 1,380 1,380 0
= 690
< 207
Al 483
202 O4dl 1,380 1,380 0
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= 690
< 207
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ES HA 40,000 40,000 0
401 AIEHI L 201 40,000 40,000 0
01 A& HI 40,000 40,000 0
OASMEN XNES F= A2 MAHALY
200, 000& 200 40,000
AZE ME)lgt T4s 8 L0 Y 3,800,000 0 3,800,000
401 Al HIZ 201 8] 3,800,000 0 3,800,000
01 A& HI 3,800,000 0 3,800,000
OMESLANE &FS 28 JOoFEEMHE
11,410 %333,041m +2,000& 3,800,000
M2 SALE HOUHXA 14,285 0 14,285
= 3,571
Al 10,714
307 21201 A 14,285 0 14,285
< 3,571
Al 10,714
02 It S AIHE L 14,285 0 14,285
ogd=E 4T TR 14,285,000& 14 14,285
< 3,571
Al 10,714
ST A2t 21,357 0 21,357
= 10,678
< 3,204
Al 7,475
201 LBH2E| 21,357 0 21,357
= 10,678
< 3,204
Al 7,475
01 At 22l 21,357 0 21,357
OSMHas e (S8 HY)
21,357,000 » 14! 21,357
= 10,678
< 3,204
Al 7,475
MEES e 4,161,444 4,125,787 35,657
= 822,130
s 313,000
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81,1202 62 180 87,610
201 Bt 138,552 175,764 N37,212
01 AP 22| H| 38,728 46,228 A 7,500
ONt= A EA HIMNZSAN S
8,000 x5H 120 4,800
ON=dl3 222 350,000& 30 10,500
ONM=ZANZE REI A =2
40,000 20CH 800
o=z =22 HE 5,000 *2,0000H 10,000
OB META A8 B2
6,500 x2720F = *4 M 7,072
OIIZSE dExy e 12,000 x280H4 3,360
Odt=2XZd gy #40 60,000& * 150 A 23] 1,800
OLMEMFTH S 9,000 %22l A +23] 396
02 Z2=2=24%4| 99,824 129,536 N29,712
OXE &L A& AH KX
800,000& *15CH+3,000,000& 15,000
OAEOIE X Qg2 E A2FH RFH
1,500 %104 =10CH 30 4,500
OMEXNZFXE, MRS L AteHolsg
MXg S 1,500 %2004 *4CH~120H & 14,400
ONEXNSUHR &L MHMNSHME A M
= 100,000 1200 & 1,200
OMEZAZIL L ASEHNSLME dER23
2,260 x200=E+ 120 & 5,424
OMEZAIS 2ZAXE SRFH
1,500& 54 57 %120 51,300
OatE Ro2ZHAIIIHC X2
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(©="DIRlN=d 200,000,000& «13] 200,000
401 AlEHIZL 2 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
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244 8503 x 2B 1 5 E+12H S S 8,815
206 M=l 44,000 44,000 0
01 =8l 44,000 44,000 0
OuZHMSLM M TS
10,000& 1,800 18,000
OSHE =2 dEdls <M
10,0002 100 x 12 S H S 12,000
ONZ2 2T A 2HF Y
5,000& «28 +1,400= 14,000
2o Holls 2 96,361 165,559 269,198
= 58,224
= 11,440
Al 26,697
101 14 dl 48,959 47,054 1,905
= 25,335
< 7,086
Al 16,538
M4 II2HZ22NSES 48,959 47,054 1,905
O =LY XM (AL, LRtel)
173,200& x60ha+1,000& 10,393
= 5,343
< 1,515
Al 3,535
OZ0H0l XA s, LXtel)
145,320 & *25ha 3,633
= 1,982
S 495
Al 1,156
Oll=dAg XASMAS, LItal)
183,933 & *50ha+350& 9,197
= 4,800
= 1,319
Al 3,078
OZMYUINON0IE K&LH(AHS, LX)
183,970& *45ha-650& 8,278
= 4,320
< 1,187
Al 2,771
OJIEtHE K ALH (A S, LX)
183,950& *40ha 7,358
= 3,840
< 1,085
Al 2,463
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1,009,900& *10ha+1,000& 10,100
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< 1,515
Al 3,535
401 Al HIZ 201 I 47,402 118,505 AT1,103
= 32,889
< 4,354
Al 10,159
01 A& HI 45,402 118,505 AT73,103
OsZE2AXNLY LIRFAL 2,270, 100& *20ha 45,402
= 31,501
< 4,170
Al 9,731
02 2teldl 2,000 0 2,000
OZZHEAX L SELHM el 89
2,000,000% 104 & 2,000
= 1,388
< 184
Al 428
MEd =202 A 5,000 5,000 0
= 2,500
< 750
Al 1,750
207 A RO 5,000 5,000 0
= 2,500
< 750
Al 1,750
01 2739l 5,000 5,000 0
OMER olzZt A48 (A=) 250,000 *2000 & 5,000
= 2,500
< 750
Al 1,750
At THOH L Rl Sl (M= 20 ST SHH) 706,918 717,778 A 10,860
=2 282,767
< 127,245
Al 296,906
101 @144 Hl 677,533 694,171 A 16,638
=2 271,013
< 121,956
Al 284,564
04 JIZHHZ22XREE S 677,533 694,171 A 16,638
OMEXZHLIS I 1A (H =, Xel)
82,6593 x50 «150 +6,000& 619,949
= 247,980
< 111,591
Al 260,378
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6,981
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OMEMEZASN 22= 376,000& »50& 18,800
7,520
3,384
7,896
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= HnH

201 LEt2E | 29,385 23,607 5,778
11,754
5,289
12,342

=z N H

]l 24,000 19,200 4,800
S YRyl (A=)
4,800,000 »5CH 24,000
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=
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1,077,000& «5CH 5,385

2,154
969
2,262
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AP THOH 2 KFel SO (AP AFER & Z 0l 2 EH) 56,500 54,387 2,113
22,600

23,730
10,170

I

= HmnH

101 Q124 H] 44,456 42,105 2,351

17,783
18,672
8,001

=z N H

04012t 22 s 2+ 44,456 42,105 2,351
OAMAEH S HOIZE 1A (A, L Rel)

2,047,800 «4E «501 & 40,956

16,383

,202

7,371

> W
~

OMAMEISEFMSE B2 (HS, LXal)

700,000& »501 & 3,500
1,400
,470
630

= N W

201 LEt2 A | 3,900 4,900 A 1,000
1,560
,638
702

=z N W

01 Ab2 2t bl 3,900 4,900 A 1,000
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Al 180
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AN P
250,000 x4 1,000
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Al 180
3,762 4,000 A 238
= 1,504
= 1,580
Al 678
3,762 4,000 A 238
ALER R AF
627,000 x64 &~ 3,762
= 1,504
& 1,580
Al 678
QutE N = 1,000 1,000 0
= 400
& 420
Al 180
1,000 1,000 0
OAAIE OIS D= H 250,000 4 1,000
= 400
o= 420
Al 180
F&FF S HI 2,382 2,382 0
= 953
& 1,000
Al 429
MR EEFSH 2,382 2,382 0
MAAFEHSE &S 2 H 2!
1,191,000 «2CH 2,382
= 953
o 1,000
Al 429
11,900 0 11,900
= 5,950
=} 1,785
Al 4,165
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AKX AEHZA
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180,000& 35 »5& 31,500
ogszeld Hsag(dXtal)
180,000& »4H 63 4,320
LT AE (HEYE) 448,000 544,832 A 96,832
s 313,000
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Al 90,000
401 Al I 28I 448,000 544,832 A 96,832
s 313,000
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Al 90,000
01 A& HI 438,000 517,832 AT9,832
OUHUE AAAY 219,000,000 *2km 438,000
s 306,000
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Al 88,000
02 2teltl 10,000 27,000 A 17,000
OUEUET MEAY 22 S|
10,000, 0002 14! 10,000
s 7,000
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Al 2,000
ACAL(LAEHLTHR)(MEAIY) 453,400 529,560 AT6,160
< 204,030
Al 249,370
101 124 dl 33,400 30,060 3,340
< 15,030
Al 18,370
4 JI12ZHHZE2EXNEES 33,400 30,060 3,340
ogzzeld 66,800& x500H 33,400
< 15,030
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401 AIEHIZ 28I 420,000 499,500 279,500
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Al 69,850
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x4 40,000 45,000 A5,000
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40,500
28,350
8,505
3,645

40,

500

01 Al&HI
© &FXI AFEY

02 Zeltl
OQA&XIALY Zel &S]

39,374,000 14!

=M W
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Pl 1,400,000
& 1,042,353
Al 11,508,231
SAE B4 9,016,000 7,741,300 1,274,700
201 LBt 10,000 5,000 5,000
01 AP 22| H| 10,000 5,000 5,000
ounEE1N= 2,500,000 201 A~ 23] 10,000
401 A& HIZL £ 0HY| 9,006,000 7,736,300 1,269,700
01 Al& b 9,006,000 7,736,300 1,269,700
OFIIDIEHERA EXNEL 9,000,000
OHAZB R 81,796 %24 451 46,000 2,000,000
Osclssd 315,159 3,173 1,000,000
OHE=& 400,000& *15,000m" 6,000,000
OFINDIZYT SIN0IH4+42
2,000,000 *3JH & 6,000
SHESH 49 ZRIBHED] 844,000 325,000 519,000
207 A0 | 500,000 0 500,000
01 g EAH| 500,000 0 500,000
o288 =XJI=2HE=d 500,000,000 = 1JH A~ 500,000
401 AlEHIZ 2 0HY| 344,000 325,000 19,000
01 Al& B 344,000 325,000 19,000
OHY, scl228 XA (sd)2d
220,000,000 *1Jf A& 220,000
OS==X| A ZHAH(F=C1AH9)
78, 1259 x320m 25,000
ogd g2 It24 ZAAY
20,000,000 x 1Al 20,000
OdE MELZ ZHAMY 300,000& 100 30,000
O} 2R EHIMNLAIY 14,000,000 =10 2 14,000
OSUHIE A2 23 ZAHAY
10,000,000 =10 £ 10,000
Osds 22322 A5+ It 2722t =4
25,000,000 x 1Al 25,000
DIMEIX XS ES AL 2,500,000 5,657,200 ~3,157,200
J| 1,250,000
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Al 1,000,000
401 AlEHIZ £ 0HY| 2,500,000 5,657,200 N 3,157,200
J| 1,250,000
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Al 1,000,000
01 Al&H| 2,465,000 5,557,200 A 3,092,200
OOIAM2ItAtA X OIMS K XtCt= =4
500,000 1,970 985,000
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17,500

3,500
14,000

100,000

A 65,000

= 0 W

60,000
30,000

6,000
24,000

150,000
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401 AIEHIZ 2 HYI
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,231

240,000

AT4,416
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165
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AT4,416
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Otz x4 41,397,000& »4km-4,000&
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66,231

240,000
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160,000
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ME 2R ZHAIH (HEAY) 935,000 0 935,000
== 561,000
Al 374,000
401 AIEHIZL 201 Y| 935,000 0 935,000
o= 561,000
Al 374,000
01 Al&H| 935,000 0 935,000
OJIXAZ2e 2 Z&ALY  233,750,000& x4ha 935,000
& 561,000
Al 374,000
AUEetA Ol RAAY 300,000 0 300,000
J| 150,000
& 30,000
Al 120,000
401 AlEHIZL £ 0HY| 300,000 0 300,000
J| 150,000
& 30,000
Al 120,000
01 Al&EH| 300,000 0 300,000
OUExsstw XAECHA Oels ZAAY
100,000,000 *2km 200,000
J| 100,000
= 20,000
Al 80,000
OEsSxzsstW AMEeHA Oels RAAY
100,000,000 * 1km 100,000
J| 50,000
& 10,000
Al 40,000
S8H0 BA=A 2 3,868,080 2,364,630 1,503,450
= 150,000
& 446,600
Al 3,271,480
S A2 =X 22 1,075,060 1,290, 199 A 215,139
101 2124 H] 401,760 428,943 N27,183
04 JI2ZtHIZ22NEE S 401,760 428,943 N27,183
OB A2 012HH|
88,000 x252 x6H 122 158,400
OZ2R A& 22| 212d|
120,000 30 x6H « 11 237,600
OJI2ZtH 22X =Y 80,000& x6H x12& 5,760
201 et 86,900 235,856 A 148,956
01 AP 2t 2] H| 13,300 21,800 A 8,500
O=28 =A2e HULXE 550,000 *2CH«73] 7,700
o288 =X&e HHEAXR2 800,000 »7& 5,600
02 2324 73,600 214,056 A 140,456
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OZ2AANAEE 8 750,000 x4 4 2«83 24,000
o=2=01g =& 2es8d 43,200
Oda=s& bt 4,800,000& =14 2~ x3& 14,400
OBOISBY SH0E - e+
4,800,000& *2H 2~ x3& 28,800
206 M = Hl 24,400 47,200 N 22,800
01 X2 bl 24,400 47,200 N 22,800
oOs% 7 10, 000& *600H 6,000
odlz #¢ 12,000& *300 & 3,600
S P 160,000& *30S 4,800
2 =X 22N 7L 1,000,000& *103] 10,000
401 Al HI 2L 2 0HHI 558,000 573,200 A 15,200
01 Al&H| 558,000 573,200 A 15,200
O AN SJA=sK2LAS 488,000
O (gd1s) 29,800,000& 53| 149,000
O2A % (gr28) 25,800,000 *53] 129,000
O3A Y (H&3s) 14,400,000& *53| 72,000
oYtz 10,000,000 *x53| 50,000
Ox=&H2XF 17,600,000& *53] 88,000
OZ2JE2AY 5,000, 000& 100 A 50,000
O=X HIotA 5,000, 000& *2JH A= x23] 20,000
405 XHo&HF S HI 4,000 5,000 A 1,000
01 JHMY 2 EF S HI 4,000 5,000 A 1,000
o=2g¢ e JIAHEH 7Y 500,000& =8CH 4,000
Aot =X 22| 631,420 0 631,420
101 2124 4| 201,840 0 201,840
04 JIZtHI2E2XNEE 201,840 0 201,840
O3 A2
88,0003 25 x3H x12& 79,200
O2< Al 22|
120,000 *30L *3H x11JH & 118,800
OJI2tM=Z2=2 X+ It 80,000%x4H x12& 3,840
201 LBt Y| 61,980 0 61,980
01 At 22l ] 17,980 0 17,980
o2& =X22 XFZ 550,000 *2CH *63] 6,600
OZ2& =Xl 22 =3 800,000& x9& 7,200
O2¢ W 2X ot
880, 000& = 1JH =44 A~ 3,520
oéH L FA Sl4a
110, 000& =10 64 A 660
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SN NYEXD
Hu: N2H0 B B
Sl EEX0 A=K 22 (B9 ®R)
SAH-EB .S (3H) - HEAY - BE2 il HDS2
02 3524l 44,000 44,000
oOss8xYE S JIAHEH s &2l
800,000& *73| 5,600
OB3NEZS RANES 750,000 *4JH A~ *83] 24,000
O=2=0l8 =3 A8 22EH 14,400
OFASE HIEEE4 4,800,000 x 100 A +3& 14,400
206 M = Hl 24,100 24,100
01 X2t 24,100 24,100
oOs% 2 10,000& x5004 5,000
obdlg #*¢ 15,000& *200 &£ 3,000
OR4g=aMH 72 120,000& x40 4,800
OSA =K 2l 7 1,000,000& x103] 10,000
O33=X HEHAZE F2¢ 13,000& * 1004 1,300
401 AIEHIL 20| 320,000 320,000
01 Al& bl 320,000 320,000
OZ2J =X Ag 140,000
O43 g (gd - 2%) 14,600,000& 53] 73,000
ObAY (&Y - A H) 13,400,000& 53] 67,000
O=d=E22AH 5,000, 000& =10 2 50,000
O32t3d =00 WA
100,000, 000& *1JH 2~ 100,000
OL2=3d Sd & B2AMe 75,000& *400m 30,000
405 XtabF S| 23,500 23,500
01 Mt =S F SHI 23,500 23,500
o=2g&e JIAHEE 7Y 800, 000& *50H 4,000
OS2 Z23 2ZelAl 2 19,500, 000* 1JH A~ 19,500
LA X2 166,840 166,840
201 LEt2 Y| 146,840 146,840
01 AFR2t2ldl 7,200 7,200
OUE0l=0lAld EIIAIA & ALY
400,000& * 181 2~ 7,200
02 33249l 139,640 139,640
OZ2&2x2 S JIAHEH |FH
1,700 x1,0002| E1*12& 20,400
03322 % XA 180, 000& #2404 A~ «12& 51,840
OUHEIOI=0lAId FAMASEA
413,000 *37H A~ *23|+38,000& 30,600
Ol 0l=0lAld HNEHES
82,900& *37I A~ *123]-7,600& 36,800
401 Al HI L =2 Tl 20,000 20,000
01 A& HI 20,000 20,000
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Hu: N2H0 B B
Sl 5B THSX el (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OJ2+ HH 242 HelESR
200,000& =100 20,000
AIFX Jt2 = 2tel 127,500 0 127,500
101 @14 Hl 108,000 0 108,000
04 JIZHHZ2XNHEE S 108,000 0 108,000
o4 MREFoL
120,000& »3H x30L 102 108,000
201 Let249] 8,300 0 8,300
01 At 22l 8,300 0 8,300
OEAN= S2 =4 .22 s =
100,000& »7H x43] 2,800
OJtz2+ 2elE fs FH Xz
550, 000& *2CH 53] 5,500
206 = Hl 11,200 0 11,200
01 =8l 11,200 0 11,200
ONz= 22N P2 600,000 »11& 6,600
OZMN 2 60,000& »10kg 600
OJt2=+ AlHIE 18dlzg 72¢
200,000& 20 % 4,000
JIE JtZ= = &2 89,900 0 89,900
101 14l 72,000 0 72,000
04 JI2ZtHZ22HEE+ 72,000 0 72,000
OJ2+FH dExFAR
120,000& »2H «30 «10& 72,000
201 L2l 7,700 0 7,700
01 At 2t 2l 7,700 0 7,700
OJtz+ 2elE A% FH FXH=E
550,000 »2CH *7 2 7,700
206 M= Hl 10,200 0 10,200
01 M= 4l 10,200 0 10,200
Otz Zelii 7 600,000& 118 6,600
QX2 AlHIE DEgHI =7 200,000 * 15 3,000
OZM 7¢ 60,000 *10kg 600
232 FHHIAHY 696,600 332,400 364,200
206 M= Hl 5,600 19,200 A 13,600
01 MHZ 8l 5,600 19,200 A 13,600
oJGtzs 232 2535 & 5,600,000 *12] 5,600
401 AIEHI L 20 622,000 182,000 440,000
01 A& Hl 622,000 182,000 440,000
OAIJLAl Jt28 22 ATHZ A
27,500,000& »23] 55,000
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Hu: N2H0 B B
Sl 5B THSX el (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJ2S 23tz & ¥ ZelAY
150,000, 0003 *1JH £ 150,000
QX2 = JHXIXII ALY 42,500,000 *40H 2 170,000
OJI24 MSsAE NEAL(®2EII)
20,000,000 *304 2 60,000
OZdIC S JI2¥ HHIAtS
27,000,000 104 & 27,000
OERUZ 22 ZHIAMY
160,000, 000* Tkm 160,000
405 XHoHE S HI 69,000 0 69,000
01 et EFSFHSHI 69,000 0 69,000
OXstze & ¢&d 7 69,000,000& =13l 69,000
YE iz 22 100,000 0 100,000
< 30,000
Al 70,000
401 AIEHIZL 2 CHEI 100,000 0 100,000
< 30,000
Al 70,000
01 A& Hl 100,000 0 100,000
OYE Jt2= 2l 20,000,000 *5km 100,000
< 30,000
Al 70,000
SO=MER ZH(FSHS)(HEAMY) 400,000 0 400,000
< 260,000
Al 140,000
401 Al HI YL 201 Y| 400,000 0 400,000
< 260,000
Al 140,000
01 A& HI 400,000 0 400,000
ORO=HdEd =4 200,000,000 *20H A~ 400,000
= 260,000
Al 140,000
THE oA M E ALY 222,000 0 222,000
< 111,000
Al 111,000
401 AIEHI L 20 222,000 0 222,000
< 111,000
Al 111,000
01 A& HI 222,000 0 222,000
O HEO0I=0lAIE HIETH E2ALS
37,000,000 «6IH A 222,000
< 111,000
Al 111,000
JI=Hst HAHNS XA 300,000 0 300,000
= 150,000
< 45,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 105,000
401 A& HIZ 201 I 300,000 0 300,000
= 150,000
< 45,000
Al 105,000
01 A& HI 300,000 0 300,000
OJI=2sd ool s01&8H
75,000,000 *40H 2 300,000
= 150,000
< 45,000
Al 105,000
SUE HEE =48 & 29 26,760 10,031 16,729
101 @14 Hl 23,760 8,031 15,729
04 JIZHHZ2XEES 23,760 8,031 15,729
O MUSHEHE AH|
88,0003 *3H 302 «3& 23,760
206 M= Hl 3,000 2,000 1,000
01 M= 4l 3,000 2,000 1,000
O MUSHEHE 2l Xt 300,000& x103l 3,000
28 29 2l 30,000 0 30,000
401 Al HIZ 201 Y] 30,000 0 30,000
01 A& HI 30,000 0 30,000
O U3 ALY 6,000& +5,000m’ 30,000
P32 H ALK 2,000 2,000 0
< 600
Al 1,400
201 et 2,000 2,000 0
< 600
Al 1,400
01 At 22l 2,000 2,000 0
OfR=s2&X £33 28 1,400,000& *13] 1,400
< 420
Al 980
ORId Mx U2=+Y 300,000& x23| 600
< 180
Al 420
HESHD tAE =2 Zd2el 1,297,529 633,375 664, 154
= 9,619
< 594,933
Al 692,977
MBS AL 2el 47,520 21,903 25,617
101 124 dl 47,520 21,903 25,617
4 JI12ZtHZ22XREES 47,520 21,903 25,617
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Hu: N2Ho B B
el MRS D oHFE YU FABR (S5 &)
- RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
osE2& A2 M= 88,000 »3H 30 x3& 23,760
OSHZ2 T A= =LK M=
88,000 »3H 30 x3& 23,760
MENHHAZLR0 29 A 1,500 900 600
301 LEtE A =2 1,500 900 600
09 HAIAHI X2 1,500 900 600
O=2ME XA WEH| 300,000& x3H 900
Ox==SJ2CIUIOIE =4l 300,000& *1H 300
O¥Azx= ICIHOH WY 300,000& x1H 300
222 3CIHI0IH 19,238 21,120 A 1,882
= 9,619
= 1,924
Al 7,695
101 21214| 19,238 21,120 AN 1,882
= 9,619
& 1,924
Al 7,695
04 JIZtHIZ22XNEES 19,238 21,120 N 1,882
oOx==&32040lH 2,404,750 « 12 801 & 19,238
= 9,619
o=t 1,924
Al 7,695
SHA=3C|H0lE 22,203 21,124 1,079
& 13,322
Al 8,881
101 Q124 H| 22,203 21,124 1,079
= 13,322
Al 8,881
04 JI2ZtHIZ22NEES 22,203 21,124 1,079
OY%Yax= ACIHOIH 2,220,300 x 12 =100 & 22,203
=} 13,322
Al 8,881
=22 M E X T A 21,633 21,124 509
= 12,980
Al 8,653
101 2121 H] 21,633 21,124 509
= 12,980
Al 8,653
04 JI2tHIZ2 2 NEE S 21,633 21,124 509
=2 Mg Xl & A 2,704,125 x1H x84 & 21,633
= 12,980
Al 8,653
TA=22 & 35,286 38,280 A2,994
o= 10,010
Al 25,276
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 14 Hl 35,286 38,280 A 2,994
< 10,010
Al 25,276
04 JIZHHZ22XREES 35,286 38,280 AN2,994
O AN=2eld 1,618,300 «2H «10& 32,366
< 9,710
Al 22,656
O A=22d el 500,000& »x2H 1,000
= 300
Al 700
OZAN=2eld s 80,000 x3H »8& 1,920
=2 29 22 102,320 68,924 33,396
201 Let24E] 7,920 5,924 1,996
01 At 22l 7,080 5,124 1,956
o2USAZ AL |X22
59,000 *1000 & =128 7,080
02 =224l 840 800 40
OYEZXNHEH FSOIZHAIAE 210,000& x42 | 840
206 M= Hl 6,000 6,000 0
01 =8l 6,000 6,000 0
Os&tz 2tel M=zl 500,000& =123l 6,000
401 A& HIZ 201 I 88,400 57,000 31,400
01 A& HI 88,400 57,000 31,400
Ootolat RSCel HIItEEH
4,200,000& *23| 8,400
OstZ2 A2 |X2el 10,000& = 1,000 m" 10,000
oZ2U stz 6EE M=, d=HMHA
20,000,000& =33l 60,000
OO0tOl&E AIE = 22l At 10,000, 000& * 14 10,000
TEM SH2 =XE S 24 100,000 0 100,000
< 30,000
Al 70,000
401 AIEHI L 20HEI 100,000 0 100,000
< 30,000
Al 70,000
01 A& HI 100,000 0 100,000
OFREL SHE FUE 5 ZH (UM
100,000,000& *1JH £ 100,000
< 30,000
Al 70,000
HRE S3t= 22 40,000 40,000 0
< 12,000
Al 28,000
401 AIEHI L 20 40,000 40,000 0

_35_




2N
X ZH -
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= - — SHE|
S BB (S) - MRAY - BES e Hl D= 2t

== 12,000
Al 28,000

01 A& HI 40,000 40,000 0
OZez sg 2229 8,000,000& *5km 40,000
< 12,000
Al 28,000

L2782 S4&=2 FH 100,000 100,000 0
= 30,000
Al 70,000

401 A2 HIL S TH Yl 100,000 100,000 0
= 30,000
Al 70,000

01 A& HI 100,000 100,000 0
OALnAZ2SAZHH 20,000,000 *5km 100,000
< 30,000
Al 70,000

CAMEA SN2 HY(BSHEH)(HSAIY) 320,000 160,000 160,000
< 192,000
Al 128,000

401 Al I 28I 320,000 160,000 160,000
< 192,000
Al 128,000

01 A& HI 320,000 160,000 160,000
OEANMERH SHt2 FH 40,000,000 *8km 320,000
< 192,000
Al 128,000

I2st=2 22 (ST (HSAMY) 487,829 140,000 347,829
< 292,697
Al 195,132

307 21201 A 292,029 140,000 152,029
< 175,217
Al 116,812

05 RIZHRI & 3 292,029 140,000 152,029
OUEZ=2s=2d 222l 292,029,000 =14 & 292,029
< 175,217
Al 116,812

401 AIEHIZ 28I 195,800 0 195,800
< 117,480
Al 78,320

01 A& HI 195,800 0 195,800
OUEZ=st=2Z HHIALY 195,800,000 10 £ 195,800
< 117,480
Al 78,320

AHMER2 T8 Y e 1,889,364 1,591,701 297,663
= 26,476
= 605,296
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,257,592
A= 2 SESAILH(FSEE) (HEAY) 800,000 300,000 500,000
< 600,000
Al 200,000
401 Al HIZ 201 I 800,000 300,000 500,000
< 600,000
Al 200,000
01 A& HI 800,000 300,000 500,000
=53 B2ad 800,000,000 =14l 800,000
= 600,000
Al 200,000
=ld AE2Y 26,476 25,500 976
= 13,238
< 2,648
Al 10,590
307 21201 A 26,476 25,500 976
= 13,238
< 2,648
Al 10,590
05 RIZt2IEt = 26,476 25,500 976
O=ds A2 26,476,000& x1H 26,476
= 13,238
< 2,648
Al 10,590
SO0t=dle |E2Y 52,952 51,360 1,592
= 13,238
< 2,648
Al 37,066
307 2201 A 52,952 51,360 1,592
= 13,238
= 2,648
Al 37,066
05 BIZHRI & 3 52,952 51,360 1,592
OROl=old AE2Y 26,476,000 =1 26,476
= 13,238
< 2,648
Al 10,590
osgdu=sit A2 26,476,000& x1H 26,476
=32 - ¥¥ =4 5,000 0 5,000
201 Let24d] 5,000 0 5,000
01 At 22l 5,000 0 5,000
OEXMHY Z&EEIHH| 5,000,000& =13l 5,000
=22 e (HEAY) 601,160 1,214,841 A 613,681
101 @14 Hl 342,450 211,713 130,737
04 JIZHHZ22XRHEE S 342,450 210,913 131,537
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAld2eld oAbl 110,0002 x6E*30L *11& 217,800
O&tAl2tel@ o1AdHl 81,600 x1F 30 128 29,376
Ogerate|d el 81,600 *3H 302! «8 & 58,752
odI & oAb 81,6003 x1H+30 «8& 19,584
OFIHAIE 223 (LAAIY) o124
81,6003 «3H x10 6 14,688
OOF= U OAEF S JoEsT 7Y
150,000& *15H 2,250
201 Let24d] 133,920 165,010 A 31,090
01 At 22l 34,120 57,400 A 23,280
oOdHF MNRES 7€ 500,000& »12& 6,000
Otz S HAZES (A, e3eld, HiE,
SEH, &ASH S) * 400,000@ «12€ 4,800
ostaa BEE &EX F¢
35,0003 *8H A x12& 3,360
o= JIXM ¢ 500,000& *43] 2,000
O+ L YHBE S 7
700,000& »23] 1,400
OMBIIJI(EREH, s8I ) =4
300,000 +8CH *13] 2,400
OotHE &=+, HIi HMZ 70,000& »203] 1,400
OAE0IE COHLHEF M= 1,200,000 *304 & 3,600
O0=s8 d=J € HU SU=
50,000 =80 122 4,800
M=z, MAt & =2 20,0003 «12& 240
osg3a(2MA) HA 450,000 »23| »2[H 1,800
OSH&EA (ML) Hatx HA 800,000& »23| 1,600
OWS%IIB(OA, ENY) Ma A
6,000& 120 720
02 =224l 99,800 107,610 A7,810
OdJl, =& 23 3,000,000& x12& 36,000
ogs S 2= 250,000 122 3,000
OCCTV, X&E&Y XD A 2e
200,000& »30CH 6,000
oCItY 28R 300, 0002 »3CH 900
oZelxtg, 294, 22&HH RFHI
1,000,000& »12& 12,000
O&Il, s&J dA, RULEHEHH =2
1,000,000& »12& 12,000
OFHANE LPGIIA P& 50,000& x12& 600
OYHYAIE X2l (HEL)
2,200,000& »23] 4,400
OH=E FA 2l 5,000,000& »23| 10,000
OXFXE FAE2Hl 600,000 x83] 4,800
O&EIIX S A2l 700,000& =4 CH 2,800
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A FB B (EN) - HRAY - BES 0l &t o il HImEET
OZHOIX ARXNE= 3,800,000& x13] 3,800
ORQAH=I| ZHelAAE BFZ
50,000& 50 122 3,000
Oet2A=d+=3E3 AsIHl 500,000& 12 500
206 M= Hl 14,700 80,200 A 65,500
01 M= 4l 14,700 80,200 A 65,500
OZE2 & £3& 22N 7Y
900,000& =122 10,800
ogxZ |RAN22E £ P& 60,0003 +50m 3,000
OFX&E A28 =3 ¥
300,000 *3H & 900
207 A O] 19,800 0 19,800
01 289 19,800 0 19,800
O+==% Sd3t & 243 Yot AASH
3,960,000& 53 19,800
301 LEXZ 1,200 2,400 A1,200
09 HALAHIX A S 1,200 2,400 A1,200
02 ZAZ, MAH EIAR oHl S
200,000& x6H 1,200
401 A& HIZ 201 Y| 71,700 739,000 A 667,300
01 A& HI 71,700 739,000 A 667,300
O=STHAIEE T MALY 10,000& *2,900 M’ 29,000
OANEE B2 - EAtS 4,500,000& *63] 27,000
osdtel FJ ¢dFH 1,800, 000& *23| 3,600
OSA 2 (HILoIRA) SRBAIES FHIAY
40,000& 220 m’ 8,800
OM2MELD WE HE &Il
3,300,000& =13 3,300
405 RHoHF S HI 17,390 16,518 872
01 AL EFSFHSHI 17,390 16,518 872
oumadd® =MHOE +< 650, 0003 *4H 2,600
o8ty 23 ¢ 500,000& =14 500
OMSA TEE, X ¢ 650,000 =14 650
O34 My 2 400,000& *3H 1,200
OdTa ==2RdAAMB2AEE BFH 7
900,000& = 1CH 900
o¢z4a 28I ¢ 600,000 +1CH 600
om=<Yz g mets 2 2,500,000 «304 7,500
ox=Zz el H=x=Jl + 550,000& 2K 1,100
oxzg&els dFI ¢ 500,000& *2H 1,000
oxZ el s F 680,000 = 1CH 680
OFLD HAHSZdAF 2¢ 660,000& = 1CH 660
HAE B 274,000 0 274,000
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Y =Xt
S0l 3 =3
Hus2H T8 9 el

= - 4 14
S C(BH) - HEAY - BAS dE = HR=2
Ofl &F o4
201 LBt Y| 26,000 26,000
01 AP 22| H| 26,000 26,000
O=&H| (240,92 3 &) dxt
600,000 =10CH 6,000
OS5 228 A4£X AR 500,000 = 10CH 5,000
042 EE N8 I 7Y
8,000 *1,000H 8,000
OEEZ CIZH(CHUHEX) HZ
3,500,000 23| 7,000
206 M = dl 50,000 50,000
01 X2 bl 50,000 50,000
OLEZRA, H2I0E, &, RII&HE 7Y
30,000 200 & 6,000
OFAR, g, Satz BEHIMME DA
30,000 *300m 9,000
047 HAY ZEE U4 S 7Y
20,000& 450 m* 9,000
OFARA 93 "3 ¢ 7,000& x700m* 4,900
O=23HANE MHB(EE , ME HE2 52 352)
2 6,000& x2,000= 12,000
OFAR HilE 228 5% Y
2,200,000 *33| 6,600
Ox=S= 222 s 7  2,500,000& *13] 2,500
401 AlEHIZL £ 0HY| 198,000 198,000
01 Al&H| 198,000 198,000
OFAIL S 2elAS (0l =33, M =53)
20,000,000 73] 140,000
OFAIR, 2elAlE SHESIAIY dHEA
720,000 x25JH A~ 18,000
OS2 JI2IEAS ZEMI(II2S ES)
200,000 x200= 40,000
2N 22 68,400 68,400
206 M = Hl 44,400 44,400
01 X2 H| 44,400 44,400
OOIMER, NMASH, MLISH, ST,
SOI=NHEd S Al 2 40,000& x700 28,000
OATF HAS(E2Z22H XIDAasS 2
3,000 x2,800= 8,400
O0ELIRS, SSURILY, 2HA =582
s =5 2 40,000 »200 8,000
401 Al HIZL 2 0HY| 24,000 24,000
01 Al&H| 24,000 24,000
2NN (NME, HHES) & =&
20,000& *1,200 24,000
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